
Caractéristiques de l'épreuve

Meudon TH2 originales

Joueurs : 54 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 2 B : 0 2

Serie 2 : A : 2 B : 1 3

Serie 3 : A : 1 B : 2 3

Serie 4 : A : 4 B : 6 C : 4 D : 6 20

Serie 5 : A : 6 B : 3 C : 1 D : 3 13

Serie 6 : A : 4 B : 4 C : 1 D : 1 10

Serie 7 : 3 3

Pierrelatte TH2 originales

Joueurs : 64 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 0 B : 2 2

Serie 2 : A : 2 B : 2 4

Serie 3 : A : 2 B : 5 7

Serie 4 : A : 9 B : 9 C : 4 D : 4 26

Serie 5 : A : 9 B : 6 C : 4 D : 1 20

Serie 6 : A : 4 B : 0 C : 0 D : 0 4

Serie 7 : 1 1

Meudon Pierrelatte

Joueurs : 118 M = 236 D = 2

Joueurs par Série : Total :

Serie 1 : A : 2 B : 2 4

Serie 2 : A : 4 B : 3 7

Serie 3 : A : 3 B : 7 10

Serie 4 : A : 13 B : 15 C : 8 D : 10 46

Serie 5 : A : 15 B : 9 C : 5 D : 4 33

Serie 6 : A : 8 B : 4 C : 1 D : 1 14

Serie 7 : 4 4

Page 1


